TR

FE200 BFMXIT/NRT v MR —ILEFERR
$10@ STEP BY STEP CUP

Y5295 11R4 - 58 = RIE — OH= A =
830  ISEEMT ] e - AR [AR]C 51 3RREY
830 Z-HoiEEEn w|go oA - Bn -
900 BIET RIBRIIRRINH) = a
BIRTVR T 1 BOKRSHIS = RIE — B
ToOF 11811~ 23+ 260 T A4 - :3
830 ZEEMT - W — A= 60 51
830 H—HAEBEE ¥i] B4 — c3 11/23
900 Z—HS B 3
== e m ¥ == 31 67 52 29
E%%%EI gﬂ%r—ﬁ% A . B 28 EL}(B% %B%FEE1$§§E B S-ﬁ m /% 7N D C1 D1 g
388 @ C-D |mi#a 900~ =
388 HH E-F | ®288 1000~ =B |11/26
288 % W G-H |mssa 1100~ BRET0 E1 E F1 £5
288  # x l«d | 488 1200~ s - BFINARS - = | = —
W B o ® K<L | 588 1300~ ClL 3 fu A A3 [=o= 1% = = =
W8 EEE  M-N | sens 1400~ | [omns E—— oAl mw] | | AL Bk 131
M B ®w#H O-P|=x:7TE8 1500~ 2 == B183 | LW et
W B B Q-R |®8#5 1600~ B2.B4 | A =
PN P 55 — %
T 56 515 — 35
wlemn PHE — Bah
i B — 46
R B —= & W | mEtas | oAs = s
35 | 45 43 | 39 26 I 41 59 | 49 1~8#
1 E2 2 3 F2 4 ©|5 E4 6|0 ©|7 F4 8J]O RIE
63 57 9 T4 59 30 54 55 90 16 21 61 70 18 68y 54
GZ| |H2 G4| |H4 |2| | 2 |4| |J4 VR
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 2
W | - B . .
S %w R 2 8 8 8 | L8 2% 8 s 8B s 5
= W id B ® ' R CRETRRR AN AR AR B
© @) © @) © @) © @)
9 SUs5 10 11 XS5 12 oo
=ln izap I FaEZ) . ‘
I — I l l REH
72 32 49 48 52 38 42 51
| G6 | | H6 | | 16 | | J6 ]
IEINNEZA AR EEN aull i IEEE A N T
E1N E2A FAA FOA
| 13PREEA (BBBEN) |
=il 4] && | W= 0] =
1 1/5| s 71 1 1/4| 24 I\ 67 1 1/4| 57 A\ 51
17 43 @ 15 23 26 21 @ 48
61 a7 4 61 46 M4 37 21 P4 T4 E
2 Bt H®E 3 5 WE 8B 6 8 WE W\ 9 1M FRR BHE 12
© ©
WERS tE=E SN WHR=5
67 36
1]t EEEN ss ] 45 P72 | oo
17 /\_ 16 74 A 102 o3 P3
‘ 20 1 23 24 25
R: R6 L. L6
J\ N ==
82 71 26 @ 13 | s s |
36 R4 35 4 4 39 \% Dﬁ 7J< ?2((
14 M 15 17 R BE 18 20 5 K 21 © lo 5 0| O
© 89 1 4




IIZ

RR29FE

%100 STEP BY STEP CUP

F£2900 BHFMWXIZNRT v ER—)LEFAR

O

Y5295 11R4 - 58 o Ba — o% — —
830  iEEEMT S - Alsg x| 1B | C =13 - | AR
830 H-HSEZES | g1 BBE — @W -
900 BIET RIBRIIRRINH) =
BT T 1 5 OKHASES =l ag B0 - =W
YRkoSH11H11 23 26H 3 —
830 ZEEMT = BEIL - 0%
830 H—HSESZEs %8s = 13 14 11/28
900 Z—HS B 3
zs = P - 43 44 49 33
=R0 BETE A D S BETRASE| B|&Es:WL| |2 WD co Do g
388 @ C-D |mi#a 900~ -
388 @EEtt E-F | 288 1000~ ®itB |11/26
288 % W G-H |mssa 1100~ =ROT0 E1 E =k F2
288 % W l+J | =mams 1200~ N — EFNALS — N
M B8 o & KeL | #5588 1300~ B B 3 A1-A3 [&D= A ? A L
1 B Bt M+N | 658 1400~ e BRI A2-A4 | BE & o = &
W B w@m O-P|H7THS 1500~ = IS BT e | 1 PAXS
MW B H®E  Q-R|®8H8 1600~ B2.B4 | 5 =
e %;{H - %
5 s 24 T RE g || 1123
ol e DOBE — =
BB 7 _ 4o 142 :EBI
= ) ~ , =
i = BElL | BRUERE | 6 8 = Sl
38 | 43 38 | 41 50 | 34 28 I 35 1~8f
1 E1 2 3 F1 4 5 E3 6 7 F3 8 RIE
40 23 68y 37 44 20 20 28 55 48 23 46 46 33 35p 29
| |d1 |3| |J8 | |H1 GS| |H3 EVEE
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 2
N é A 4 =
Slei® @ = = 2 |8 % # 8|S L& B z
= B o B m# w B W | B8 | B | B 8| B B B
9 BRI 10 11 511215 12 o128
rpUp=E =z N .
I I l l RIEH
46|_|—| 38 34|_I_|4o 51|_I—I 16 9 |—|_|63
5 J5 G5 H5
[t = mn a2 =
IEEE RGN ECTNE] R ENRESE PG EER
E1A E2A FAA F2A
| 13+ 14REEAN (BBEA) |
[1] =xm 4] =W
11/5| 11/4| 53 57
KA1 K5 2]
44 47 26 @ 21
% a3 35 16 ; B
2| o | IxE 3 5 @R #/L 6
= Paui=] O Pat=] O = Pat=] == =
WERS oE=R SN WHR=5
74 32
B i RUE ol s s | o
s 02 | P2
20 1 23 24 25
EF| W | K| W
12 73 yﬁ ?;( g 'E
W] # s | o[ER] kR e | o eoz[EE]e 05
20 | 69




